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Note : This question paper has two Sections—

Section A and Section B. Both Sections 

are compulsory. 

Section—A 

1. Fill in the blanks by choosing the correct 

answers from the choices given below :  

15×1=15 

(Porcelain, conductor, steel, rubber, current, 

temperature, frequency, vacuum, accuracy, 
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hotspots, moisture, static, reliability, cable, 

gases). 

(i) XLPE is a type of .............. . 

(ii) Quality of SF6 gas is checked by its 

............. content. 

(iii) ........ globes can be used for doing hot 

line maintenance. 

(iv) In an ACSR conductor, the central core 

is of ............. . 

(v) Due to fault inside the transformer, 

............ may be formed. 

(vi) ......... of supply increases with increase 

in the number of transformers. 

(vii) ‘Dog’ is the trade name of .............. . 

(viii)Tong tester is used for measuring ........ .  

(ix) ............ switchgear requires less 

maintenance than oil inulated 

switchgear.   

(x) Disc insulator is made of .............. . 

(xi) A transformer is a ........ device. 

(xii) ......... need to be detected in a 

substation during online inspection. 
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(xiii)  Availabity Based Tariff (ABT) is .......... 

dependent. 

(xiv)  The bus-bar should be able to carry 

the expected maximum load current 

without exceeding .... limit. 

(xv)  ........... of static meter is 0.2. 

2. Write True or False for the statements given 

below :   10×1=10 

(i) Dissolved gas analysis is carried out in 

case of a circuit breaker.    

(ii) No earth switch can be operated unless 

the corresponding isolator is in open 

position.  

(iii) Energy consumed is typically measured 

in Wh. 

(iv) Overloading of a distribution 

transformer can be detected with the 

help of a Tong tester. 

(v) Secondary output current of a CT may 

be 5A. 

(vi) Control supply of a protection system is 

fed through AC system. 
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(vii) Isolator is operated at no-load. 

(viii) Buchholz relay is an oil operated relay.   

(ix) Transformers can change the frequency 

of electric supply. 

(x) Electricity is often generated at 11 kV 

by electrical generators.  

3. Match the following in Column A with 

Column B :  5×1=5 

Column A Column B 

(a) Multiplying 

factor 

(i) Load current 

(b) Diversity factor  (ii) Energy meter 

(c) Circuit breaker (iii) Fault 

(d) Relay (iv) Insulator 

(e) Polymer (v) Load 

Section—B 

Note : Answer any eight questions from the 

following. 8×5=40 

4. List the tests those are carried out for a 

transformer. 

5. Describe a Ring Main System. 
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6. What is the difference between power cable 

and control cable ? 

7. What are the advantages of HVDC ? 

8. List important reasons for DTR failures.  

9. What is the procedure for permit to work ?  

10. What are the uses of batteries and battery 

chargers in a substation ?   

11. What are the advantages and disadvantages 

of radial feeders ?  

12. Differentiate between preventive 

maintenance and breakdown maintenance. 

13. Explain the procedure for measuring earth 

resistance. 
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 OEE–002 

fo|qr forj.k esa l{kerk izek.k&i= 

(lh- lh- ih- Mh-) 

l=kar ijh{kk  

twu] 2025 

vks-bZ-bZ&002 % fo|qr forj.k iz.kkyhµewy fl¼kUr 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % iz'u&i= nks Hkkxksa esa foHkkftr gSµHkkx ^d* vkSj Hkkx 

^[k*A nksuksa Hkkxksa ds mÙkj nsuk vfuok;Z gSA 

Hkkxµd 

1- uhps fn, x, fodYiksa esa ls lgh fodYi dk p;u djrs 

gq,] fjDr LFkkuksa dh iwfrZ dhft, % 15×1=15 

(iksflZysu] daMDVj] LVhy] jcM+] /kkjk] rkieku] vko`fÙk] 

fuokZr~ (oSD;we)] ifj'kq¼rk] gkWVLikWV] vknZzrk] LVSfVd] 

fo'oluh;rk] dscy] xSlsa) 

(i) XLPE ,d 
---------------

 dh fdLe gSA 



 [ 7 ]  OEE–002 

C–2129/OEE–002 P. T. O. 

(ii) SF6 xSl dh xq.koÙkk dh tk¡p] mlesa fo|eku 
---------- 

dh ek=k ls dh tkrh gSA 

(iii) 
------------

 ds nLrkuksa dk bLrseky gkWV ykbu vuqj{k.k ds 

fy, fd;k tkrk gSA 

(iv) ,-lh-,l-vkj- dUMDVj esa] lsaVªy dksj] 
--------------

 dk 

cuk gksrk gSA 

(v) VªkUlQkWeZj esa nks"k gksus ds dkj.k] 
----------------

 cu ldrh 

gSaA 

(vi) VªkUlQkWeZjksa dh la[;k esa c<+ksÙkjh ls 
-----------

 dh 

vkiwfrZ c<+rh gSA 

(vii) ^MkWx* 
-------------

 dk VªsM uke gSA 

(viii)VkWUx VsLVj dk iz;ksx] 
-------------

 ekius ds fy, fd;k 

tkrk gSA 

(ix) vkW;y bUlqysfVM fLopfx;j dh rqyuk esa 
------------

 

fLopfx;j dks vf/kd j[k&j[kko dh vko';drk 

ugha gksrh gSA 

(x) fMLd bUlqysVj] 
---------------

 dk cuk gksrk gSA 

(xi) VªkUlQkWeZj 
--------------

 fMokbl gSA 
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(xii) vkWuykbu fujh{k.k ds nkSjku lcLVs'ku esa 
------------------

 

dk irk yxkuk vko';d gksrk gSA 

      (xiii) miyC/krk vk/kkfjr VSfjQ (,chVh) 
--------------

 ijkfJr 

gSA 

(xiv) cl&ckj dks 
--------------

 dh lhek ds varxZr visf{kr 

vf/kdre yksM djaV dks ogu djus esa l{ke gksuk 

pkfg,A 

(xv) LVSfVd ehVj dk 
------------

  0-2 gSA 

2- uhps fn, x, dFkuksa ds fy, lgh ;k xyr fyf[k, %  

10×1=10 

(i) ?kqyh gqbZ xSl fo'ys"k.k] l£dV czsdj dh fLFkfr esa 

fd;k tkrk gSA 

(ii) fdlh Hkh vFkZ fLop dks rc rd can ugha fd;k tk 

ldrk tc rd fd rnuq:ih vkblksysVj vksiu 

fLFkfr esa u gksA 

(iii) mi;ksx (Consumed) dh xbZ ,uthZ (ÅtkZ) 

[kklrkSj ij okV vkWoj (Wh) esa ekih tkrh gSA 

(iv) fMLVªhC;w'ku VªkUlQkWeZj dh vksojyksfMax dk irk] 

VkWUx VsLVj dh lgk;rk ls yxk;k tk ldrk gSA 

(v) lh- Vh- dh lsdsaMjh vkmViqV /kkjk 5A gks ldrh gSA 
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(vi)  lqj{kk iz.kkyh fu;a=.k (Control) ,- lh- flLVe 

ls gksrk gSA 

(vii)  vkblksysVj dks uks&yksM ij ifjpkfyr fd;k tk 

ldrk gSA 

(viii) cqdksYt+ fjys] rsy ifjpkfyr fjys gSA 

(ix)  VªkUlQkWeZj ls fctyh vkiw£r dh vko`fÙk dks cnyk 

tk ldrk gSA 

(x)  oS|qr tujsVj }kjk fctyh dks vDlj 11 ds-oh- ij 

tfur fd;k tkrk gSA 

3- uhps fn, x, dkWye ^d* dk dkWye ^[k* ls feyku 

dhft, %   5×1=5 

dkWye d dkWye [k 

(d) cgqxq.kd dkjd (i) yksM djaV 

([k) fofo/krk dkjd (ii) ,uthZ ehVj 

(x) l£dV czsdj (iii) nks"k 

(?k) fjys (iv) bUlqysVj 

(³) ikWfyej (v) yksM 
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Hkkxµ[k 

uksV % fuEufyf[kr iz'uksa esa ls fdUgha vkB ds mÙkj nhft,A 

8×5=40 

4- VªkUlQkWeZj dh tk¡p gsrq vko';d ijh{k.k dkSu&ls gSa \ 

lwph cukb,A 

5- fjax esu flLVe dk o.kZu dhft,A 

6- ikoj dscy vkSj daVªksy dscy esa varj D;k gS \ 

7- ,p-oh-Mh-lh- ds Qk;ns D;k gSa \ 

8- Mh-Vh-vkj- BIi gksus ds egRoiw.kZ dkjd D;k gSa \ lwph 

cukb,A 

9- ijfeV Vw odZ dh dk;Zfof/k D;k gS \  

10- lcLVs'ku esa cSVjh vkSj cSVjh pktZj ds mi;ksx D;k gSa \ 

11- jsfM;y QhMlZ ds ykHk vkSj nks"k D;k gSa \ 

12- fuokjd (Preventive) vuqj{k.k vkSj czsdMkmu  

(Breakdown) vuqj{k.k esa varj Li"V dhft,A 

13- Hkw&izfrjks/kdrk ekius dh dk;Zfof/k dk o.kZu dhft,A 

× × × × × 


